Example IT1.22 (Feldman’s notes)

le ?) g 111 3 2 1 4 2 1
det2333:det333—2det233
-8 9 19 8 9 12 7 9 12
(4 3 1 4 3
+3det [2 3 3| —4det |2 3
|7 8 12 7 8
3 2 1 .
3 3 3
det |3 3 3 :3det[ 2dt[ ]—l—det[
S 9 12 9 12] 8 12 8
= 3(36 — 27) — 2(36 — 24) + (27 — 24)
=6
4 2 1
det |2 3 3 | =4det [S 132]—2det [3 132]+det [3
7 9 12
= 4(36 — 27) — 2(24 — 21) + (18 — 21)
= 27
4 3 1
det [2 3 3 | =4det [2 132]—3det [3 132]—|-det [3
7 8 12

— 4(36 — 24) — 3(24 — 21) + (16 — 21)

= 34

8 9 79

4 3 2
det |2 3 3| =4det [3 3]—3det[2 3]+2det [2 3]
7 8 9

— 4(27 — 24) — 3(18 — 21) + 2(16 — 21)

=11
1 2 3 4
4 3 2 1
det 5 3 3 3 =6—2x27T+3x34—-4x11 =10
7T 8 9 12
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